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Ain M’lila 14/05/2025
Exam of mathematics 2 (duration 1h30min)

Exercise 1. (7 pts)

1. Use the numbers (called nodes) xo = 1.8, x1 = 2.5 and x2 = 3.4 to find the second Lagrange

interpolating polynomial for £ (x)= L

Jx
2. Use this polynomial to approximate f(2.9), compare with the exact value
Exercise 2. (6 pts)
1. Construct the vector field of : ¥,(x, y) = 2xi + )7 ,%,(x, V) = xi =27,

V,(x,y) = yi +0.5%], ¥,(x, )= 0.5y —xj

Exercise 3. (7 pts)

1. Let have the matrix A as described below and calculate the value of x if the determinant is
equal to 20.

2~ 3 —8.5
A=|x 4 1.5
1' =2 - 238

21

1 2|, can we perform the

7
2. Calculate the determinant of B = [5
1 3

product BC and CB?
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